asym_atll

asym_atrl

asym_atl2

asym_atr2

run7312 000 r

—22(
10000
— 200
—{18(
=000 —16(
—114(
1] 120
100
a0l
=5000
600
400
10000
200
_||||||||||||||||||||||||||||||||||||| D
=80 -60 =40 =20 O 20 40 B0 ag 100
diff_bpmXum
diff
B —22(
i — 200
10000
C —18(
i —{16(
5o00 M u
i —114(
. B
B n 120
ﬂ -
- 100
| |
5 a0
<5000 —
B [ |
i BOC
- 400
10000
i 200
_||||||||||||||||||||||||||||||||||||| D
80 -0 -40 =20 O 20 40 B0 as 100
difi _bpm1Xum
d .
- —22(
40000
B —{200
30000 i
20000 — 160
10000 — 14
N |
B 120
o -
- - u 100
10000 |
E - B0l
20000
N 60l
30000 | A0
40000 :— - 200
SRR NN FEEE R NN N AN RN F RN N o
80 -0 -40 <20 O 20 40 B0 ab 100
diff_bpm1Xum
diff_ bpmlX
I
—22(
40000 oo
—{18(
20000
m | {18
—14(
|
0 12(
10L
20000 a0t
a0
40000 400
[ |
: - 200
Eﬁnnnlllllllllllllllll |||||||||||||||||||

-60 40 <20 0 W20 40 &0 80 100

egsression-asym at vs

10000 —1ec
- —lanr
5000
. BOC
ﬂ_
- 400
~5000 -
i 20(
10000
i m
_IlllIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
~a0 -20 0 =10 0 10 20 30
diff_ bpmdaYium
-
: —10(
10000
- —lanr
5000
D_
[ N
~5000 -
i 20(
10000
B |
i |IIII|IIII|IIII|IIII|IIII|IIII|II {'
-.-m 20 10 ) 10 20 an
diff_ bpmdaYium
difL
40000 - e
30000 F
- — 100
20000
10000 |80t
oF
10000
- u
20000 E 400
apooo
- 200
N |
40000 :— -
Coo Lo vy o e brr o b 0
-.-m 30 -10 0 10 20 a0
diff_ bpmdaYium
difL
I —{12¢
40000
- —100
20000 —
i —lanr
ﬂ_
20000 -
40000
: [ [
|
E.DDDUII|IIII|IIII|IIII|IIII|III

~ PDPI-

10000 —j22( 10000 |- —1eL
. —{z00 .
B —18( B —{ani
5000 5000
- —{18( -
- —{14r -
. . —g0C
or 12 or
i 100 i
i [ 400
5000 8ol 5000
- BOC |
! 400 | 200
10000 10000 m
- 300 i n
_|III|III|III|III|III|III|III|III|III|I ﬂ _|IIII|IIII|IIII|IIII|IIII|IIII|III D
B0 -BO -40 -20 0 20 40 60 B0 100 -0 =20 =10 ) 10 20 a0
diff_ bpmdeX/um diff_ bpmdeYium
. l
- — —24( -
| [ —10¢
i —22C i
10000 - —{=00 10000
i —{18( i — 800
5000 — —[1&c 5000 — g
- —{14r - N _
- i m |
ol 12( ol
i 100 i
N | | [ |
- - m 400
~5000 . 80c _so00
| BOC [
i i 200
10000 0L 10000 |
i 200 [
_|III|III|III|III|III|III|III|III|III|I ﬂ _|IIII|IIII|IIII|IIII|IIII|IIII|III D
B0 -BD -40 -20 0 20 40 &0 B0 100 30 -20 -10 ) 10 20 a0
diff bpmdeX/um ditf_bpmdeYium
diff_ diff_bpmdeY
40000 |- g ! 40000 —12(
30000 F P 30000 F
- —{18( - —10(
20000 20000 - "
10000 B 10000 —anr
N [ | C
o = 120 o -
- u C GO
- u 10 -
10000 10000
- m 801 -
20000 20000 400
N B0C N
30000 apo00
- 40 - 200
40000 [~ - 300 40000 [~ -
Clo oo v Do b b br o v bea o b 0 Clo oo oo oo o v oo by by b o
BD -BO -40 -20 O 20 40 &0 B0 100 30 -20 -10 ) 10 20 an
diff_bpmdaX/um diff_bpmdaYium
— —25( —
- - —12¢
40000 40000
- —200 |
i I —10¢
20000 i 20000
i —{15¢ i —R0¢
o u ol
i i B0l
l 100 i
20000 20000
- - 400
40000 40000 [~ o0
i [ ] i [ | |
| | |
E‘DDDDlIIIlIIIlI III| |IIII|IIII|IIII|IIII|IIII|IIII|III D

80 -0

- 20 10

“nostpan.png--

10000
i —{8oc
. —{70c
5000
: —6o0
D_
~5000
i [
10000 = n 10¢
_I | | L 111 | L 111 | L 111 | L1111 I L1111 | L1111 | L1111 ﬂ
150 =100 =50 O 50 100 150 200
diff_bpm12X/um
.
L
i —laoc
[ m _
10000 - g n 80t
i ] —{700
olm
- [ |
~5000
i -
10000
i - |
_I | | L1111 | L1111 | L1111 | L1l I L1111 | L1l | L1l ﬂ
150 -100 -50 O 50 100 150 200
diff bpm12X/um
d'
40000
- —30¢
30000
20000 —25t
10000 - oo
o
- 15(
10000 |
20000 100
30000
- 500
40000 :— -
RIS NEEEERITEENENEE NI NN NN NI NEEE

—1ED =100 =50 1] 50 100 150 200 0

diff_bpm12X/um

diff_bpm12X

40000 —30C
—{25(
20000
—{ 200

150

20000
100

40000

S0C

el v b v b v s Paan g
&0000 -150 -100 50 1] 50 100 150 200

diff_bpm12X/um

1]



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

10000 —
B — 200
= —18(
S000 — —16(
B [ | u —14(
i 121
oL ® §
| = 100
| " o
5000
R a0l
B 400
B |
10000 200
_I 11 I 111 I 1 11 I 111 I 111 I 1 11 I 111 I L1 I 1 11 I | D
=80 -60 =40 =20 O 20 40 B0 ag 100
diff_bpmXum
difL
B I _EEI:
10000 [P0
i —{18¢
B —16(
000 —
R — 14
- u . LR T,
ﬂ -
Bl 100
B B0l
5000
i BOC
B 400
10000 —
- - 200
L 11 I L1l I L 11 I L1l I L1l I L 11 I L1l I L1l I L 11 I | D
80 -0 -40 =20 O 20 40 B0 as 100
difi _bpm1Xum
diff
8000 —{20
6000 - — 181
ADDD :_. —16(
: —1ar
2000 — u
i [ |
oLE 120
i [ | - 100
2000
- a0l
4000 —
N a0l
000 :— ADE
~B000 = N 200
NI NN R R NN N AR RN F A N
II}DDDE{I 60 40 =20 0O 20 40 B0 ab 100 o
diff_bpm1Xum
difL
i — 24
10000 —2&
— 200
—{18(
L0000 [ ]
—16(
—14(
(1]
- 121
100
5000 0L
GOl
400
10000
200
1 11 I 111 I 1 11 I 111 I | | I 1 11 I 111 I L1 I 1 11 I |

run7312 000 resiession

STESSION “Treg

—100

5000 —

=5000 —

10000 u u

11 I 1111 I 1 111 I 1 111 I 1 111 I 1 111 I 1111 I 11 ﬂ
30 -20 -10 0 10 20 30
diff_bpmda¥ium

:
E

—100

10000

5000

=5000

10000

=
IIIIIIIIIIIIIIIIIIIIIIIIIII

ol by by by b Loy g g L 0
-30 20 =10 0 10 20 30
diff_bpmda¥ium

diff_

—100
8000

6000

4000

2000

=2000

=4000

6000

8000 -

plvvre bvvrar brrr v brrra br v brv v b
10000 —3-I:I' 20 =10 1] 10 20 an o

diff_bpmda¥ium

diff_bpmdaY

10000

=
IIIIIIIIIIIIIII|III|III|III|III|III|III
|

— 100

2000

=5000 —

10000 i -

at vs

B —22(
10000 —

i —20(

i —18(
2000 = — 160

I —14(

ol 12(

| 100

B aoc

5000
N a0l
N 400
10000 — 200
I 111 I 111 I 111 I 111 I L1l I L 11 I 1 11 I 1 11 I 111 I 1 ﬂ
=80 =60 =40 =20 O 20 40 &0 BOD 100
difi_bpmdeX/um
diff_bpmd4eX
| I
: —22(
10000 - i

- —18(
E000 —1&(

K —14¢

. m = u n

o 120

- mm

- 10(

~5000 BOC

B a0l

10000 — 40

- - 200

I L L1 I L1l I L1l I L1l I L1l I L 11 I L 11 I L 11 I L1l I 1 ﬂ
80 -0 -40 =20 O 20 40 &8O BO 100
difi _bpmdeXsum
l

B —(22(
8000 |

B —200
e000 —

" —{18(
4000~ m —{16(
2000 - —14(

[ [ |

of W ® _ 12¢
N n 10C
2000

" |00

~4000 |-
- a0l
-g000 —

C 400
-8000 - | 20(
1ﬂDDD_I|||I|||I|||I|||I|||I|||I|||I|||I|||I| 0

80 -60 -40 -20 O 20 40 &0 BO 100
diff_bpmdeX/um

diff_bpmdeX

10000

—20C

—15(

100

100

10000 |- m
- —a0r
5000 -
| 0L
ok EE
- 400
~5000
| " 20
B [ |
10000 |- | |
_I L1 11 I L1 11 I L1 11 I L 111 I L1 11 I L1 11 I 1 11 I}
30 =20 =10 0 10 20 an
difi_bpmdaYium
diff _bpmdeY
- I —10(
10000 |
i —anl
5000 |-
i —500
ﬂ_
- . 400
~5000
[ 200
10000 |
: |
I L1111 I L1111 I L1111 I L1 11 I L1 11 I L1111 I L1l I]
-3 20 -10 ) 10 20 an
difi_bpmdaYi/um
l
: —100
8000 [
B0O00
a —80C
4000
2000 - oo
0 :— n
~2000 | 400
~4000
~6000 200
-8000
‘H}DDUI""I""I""I'"'I""I""I"' o
“an =20 -10 0 10 o0 an
difi_bpmdaYium
B — 100
10000 | - - =
- —anr
5000 -
: [ |
ﬂ_
~5000
i 200
10000 | "
I L1 11 I L1 11 I L1 11 I L 11 I I 1 11 I I 111 I I 1 11 I}

=30 -20 =10

“postpan.png -

5000

~5000

10000
_I | I L 111 I L 111 I L 111 I L1111 I L1111 I L1111 I L1111 ﬂ
150 =100 =50 O 50 100 150 200
diff_bpm12X/um
difL
. — —la0(
i [ |
10000 - —|Boc
| —{700
5000 [~ eor
D_
- [ |
~5000
10000 |- .
. = .
L1 I L1111 I L1111 I L1111 I L1l I L1111 I L1l I L1l ﬂ
150 -100 -50 O 50 100 150 200
diff bpm12X/um
l-
BO00 [ —eot
6000 [~ —{701
4000 |~ —{BOL
2000 -
N |
of
~2000 -
- N
~4000
6000
—Boon 100
n g =
‘H}DUU_ IR TN E ISRl RSN RN NI RN N 0
150 -100 -50 O 50 100 150 200
diff_bpm12X/um
diff_ bpml12X
I
- . —laoc
10000 |
- —{8oc
l —{70c
5000 |-
- — 00
D_
B [ |
~5000 |- =
i (]
10000 — .l 100
11 I L 111 I L 111 I L 111 I L1111 I L1111 I L1111 I L1111 ﬂ

=150 =100 -50 1] 50 100 150 200
diff_bpm12X/um



asym_atll

asym_atrl

asym_atl2

asym_atr2

run7312 000 re

diff bpm1X

¥2 / ndf 13.83/13

pO 1.673+8.103 |
A

p1 4217 £1.21 - i
: i

—EﬂDD_— h

—4«I}DD_— __

-IE-{?DEI_—
:ll-lllllllllllllllllI|III|III|III|II |

L
-80 -60 -40 -20 O 20 40 &0 80 100

diff_bpm1X

some _ * ©/ndf  5389/13
4000 ]l p0 —-1.669 + 9.501
2000 i 1 p1 -53.41+1.42

=2000

-4000

R T R
=

~6000

:
:
IE_
SE
-
i .
=
Z
=
2

diff_ bpm1X

¥2 / ndf 16.92 /13

p0 18.44 + 31.58
p1 3557 +4.73
5{;003—' - \”
nf— ) bﬁwﬂn
_mnnf— N -
mnnnf— -
15nnnf— i
e b b b b b bea e b L
B0 -60 —40 -20 O 20 40 60 B0 100

diff_ bpml1X

2 /ndf 15.86/13

p0 12.5 + 36.1 -
p 1988 + 54 y
: J
n:— / i
10000 — H -
20000 —
:l 111

st
.

20 40 60 100

| |=F
.
0218
.
-

diff_bpmdaY

¥Z [ ndf 32.72 /34

00 3.325 + 8.097 }

p1 40.42 +£1.43 ]

mnn:— 1
- u{j“}
E | i [t
- wwr }

1000 | | {h

~2000 |-

_E-DDI:I:—|I|I_III|IIII|IIII||||||||||||||||||

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

%2 / ndf 41.21/ 34

PO -4.498 +9.505 i
p1 47.9 £1.7 | _
- | '
of ‘ -
~1000 [
-2000 |-
~3000 [
: |_||||||||||||||||||||||||||||||||

—31} =20 =10 1] 10 20 a0

diff_bpmdaY

%2 / ndf 31.95 /34
p0 -11.32 + 26.10 +” ]
p1 809.5 + 4.6 #ﬁ”{H
0
10000

20000

30000

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

%2 / ndf 35.22 / 34

p0 -33.12 + 30.34 L|+
p1 921.2 + 5.4 m|41l
ot
10000
i ]
10000
Y

20000

30000

asvm atci’iff

diff_bpmdeX

¥Z / ndf 22.24 /14

pO 3.963 £ 8.065 {Hj]l

p1 4312117 ;
I }er

2000 }

4000 — __

—E-DDD_—
_II_IIIII|III|III|III|III|III|III|III|II

-80 -60 -40 20 0 20 40 60 80 100

diff_bpmdeX

L - 2 / ndf 5.561/ 14
oer 0 -2.762 +9.470
s000 - JH p1 -51.08 + 1.38

S

= ) \
—EDDD-— j‘
—WDD-—
—EDDD:|'||||||||||| Pl ||||||||||||||_ I

:
:
S
sE
-
i) .
2
2
=
=

diff_bpmdeX

2/ ndf 28.66 /14
p0 17.55+31.44
p1 63.03 + 4.61
ErI}DDf—_ ) JH
: t
.D:— i M
-mnnf— «ﬁ | ;
mnnnf—
150005— )
O bv ol b bora bvna by bova baaa by
B0 60 40 =20 O 20 40 80 8O 100

diff_bpmdeX

diff_bpmdeY

%2 [ ndf 26,197 33

po 0.8252 + B.0964

p1 46.96 +1.47 }

1000

1]

=1000

—_—
-+
[ ——

= 2000

=3000

_mnn_hll||||||||||||||||||||||||||||||
=30 =20 =10 0 10 20 30

diff_bpmdeY

2 /ndf  39.06/33

p0 -3.72 £ 9.51 +
p 5549 +£1.73 { :

mnnf— ]LM Rl
Df_ Hﬂ .

~1000 |-

-zunnf— } d

_,'].DDD:-||||||||||||||||||||||||||||||||||

=30 =20 =10 1] 10 20 a0

diff_bpmdeY

%% [ ndf 29.81/ 33
++
p0  —7.892 + 24.400 |-
p1 9314+ 44 ﬂ;ﬂﬂl
TOU0
of
10000 [
- - +
[ H-J"F#
20000 |- hﬁ
Il
SDDDD'I_llllI|IIII|IIII|IIII|IIII|IIII|III

=30 =20 =10 1] 10 20 a0

diff_bpmdeY

¥e [ ndf 30.91/14 %2 | ndf 29.02 /33
1 i
pO 12.39 £ 35.81 ) p0 -28.58 + 28.47 } H
p1 2294153 | | p1 1059 + 5.2 !ﬁ“{
i J#Jf 10000
or / of
i ) W -
- m 10000 [
10000 - _ - "
[ - 20000 - Gl
20000 |- wﬁw
. 30000
-||||||||||||||||||||||||||I||||||||

pm-fit ‘postpan.png "

I } ¥2 [ ndf 56.28 / 38
4000 —
- * p0 2.989 + 7.900
2000 MW{H o1 14402
ol
-znnn_— ﬁhjﬂﬁ )
-WEIEI_— }:
-E[:IDD_— -
TIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

=150 -100 -50 1] 50 100 150 200

°1

iff bpml12X

- ]l %2 / ndf 36 /38
8000 |-

: PO —1.344 9342
4000 |

. p1 -14.51 + 0.26
2000 |

- | wmrf

u:— * )

-2000 :— H[W -
4000 :— | '
6000 |- )

:l L1 | L1 1l | L1l | | | | L1l I L1l | L1 1l | L1 11 |

=180 -100 -50 1] 50 100 150 200

S

E ¥*/ndf  31.71/38
o000 |-

n p0 6.921+ 7.248
20000 -

: p1 -226.8+0.2
10000 -

o

10000 |-
20000 |- -
30000 - !

- oy

- t
40000 |- _

T b b b b bevaa benaa banaa |

=180 -100 -50 1] 50 100 150 200

diff _

- ¥2/ndf  42.49/38
40000 — *]_t;_r
[ p0 ~7.9+89
20000 1 p1 _261.2+02
ol
20000 -
40000 |- i
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|III-I|

=150 =100 -50 1] 50 100 150 200



Is
=

di bpm 1X diff _bpmd4ay diff_bpmdeX diff _bpmdeY diff _bpm12X

000 %2 f ndf 13.44 /13 ¥2/ndf  31.87/34 4000 %2/ ndf 20.89/14 %2 / ndf 31.53/33 ¥ ndf 54.92 /38
e - p0 1.006 + 7.893 00 5774 + 7.854 w0 - p0 3.254 + 7.863 o0 3.097 + 7.870 o0 4.360 + 7.837
2000 - - '
- p1 -0.2563 £1.1725 p1 1.148 £ 1.383 2000 - p1 -0.4492 £ 1.1386 p1 0.7937 +1.4323 | p1 0.05022 + 0.22034
o - - — ' [ -
1000 £ ]l | 500 | 1000 |- _ S0 U i f
B = - B - +
o t - : + T E - ' o W’%ﬁ ) o ﬁ‘#**ﬂ'f“""v"‘*r*ﬁﬂmi%+ 3 h
0 C - i - n ]
reg_asym_atll - F il - b e N B z i)
— — =1000 [~ }~ - _ 500 :_ - =1000 — E _ =1000 N i
F - - t - ~1000 | - :
-2000 - -2000 s -
C + B - ]l ~1500 | | ~2000 -
=000 :— _ =1500 :_ =3000 :_ - =000 E_ = E
- - - - . ~3000 — -
_|III|III|III|III|III|III|III|III|III|II _E.DDD_ |IIII|IIII|IIII|IIII|IIII|IIII|II _mnnjllllllllllllllllIII|III|III|III|III|II 'IIIIIIlIIIIlIIII|IIII|IIII|IIII|III _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|
B0 <60 -40 <20 O 20 40 &0 BOD 100 =30 =20 =10 0 10 20 30 B0 60 40 <20 O 20 40 B0 B8O 100 =30 =20 =10 o 10 20 30 =180 =100 <50 0 50 100 180 200
diff_bpm1X diff ' bpmdaY = diff_bpmdeX diff_‘bpmdeY = diff_bpml2X
4000 4000 - 5000
: %2/ ndf 4.624 /13 %7/ ndf 39.04 / 34 - 2/ ndf 7.959 /14 %2 / ndf 39.06 / 33 - %2/ ndf 35.24 / 38
3000 - - 4000 | }
B p0 -2.816 £9.268 p0 -5.177 +9.225 3000 p0 ~3.38 + 9.23 p0 -4.857 + 9.244 : p0 —3.257 + 9.209
- - 3000 |
2000 N -
B } p1 -0.2519 £ 1.3859 p1 1.21 £ 162 i 2000 — p1 —0.09882 + 1.344686 p1 0.6863 + 1.6801 2000 - p1 —0.08134 £ 0.25754
oo - { ] ] T 0 - 1000 E ‘ H } | :
C of Ll 1000 - ~ ) _ = 1 - 1000
= WM B + ﬂjf } N o } W{# { [ N {m ’
N ]l n - } ﬁ 1 - o L
reg_asym_atr | ok | I L -- - |1 +
— — -1000 | : - ) n ~1000 H -
= ~2000 |- ~1000 | o000 B :
=2000 [~ N - T- E =2000 —
- ~3000 — - - - -
N - ~2000 ~3000 -
~3000 — E N _ - -3000 .
:|III|III|III|IIIIIII|III|_III|III|III|II _WDD__Illllll|IIII|IIII|IIII|IIII|IIII|II _S.DDD:LIIIIIII|III|III|III|III|III|III|III|II _WDD-TIIIII|IIII|IIII|IIII|IIII|IIII|III —-IH}EIU;—III|IIII|IIII|IIII|IIII|IIII|IIII|I_III|
B0 60 40 20 O 20 40 80 BD 100D =30 =20 =10 0 10 20 a0 B0 60 40 20 O 20 40 B0 BO 100 =30 =20 =10 o 10 20 a0 =180 =100 =50 0 50 100 180 200
diff_bpmi1X diff_bpm4aY diff_bpmd4deX diff_bpmdeY diff bpml12X
- 2 | ndf 15.2 /13 - 2 [ ndf 19.5 /34 . ¥ [ ndf 23.07 / 14 - 2 | ndf 36.24 / 33 +2 | ndf 31.54 /38
3000 [ 20007 - 3000 [ 2000 |
B p0 1.991+ 6.646 - p0 5.999 + 6.619 - p0 2.447 £ 6.623 B } | p0 5.097 + 6.629 p0 4.564 + 6.604
2000 u 2000 - oo - F
- pl  —0.09055 + 0.98761 oo } pi -0.4828 + 1.1569 - - p1 -0.1256 + 0.9628 - pl  —0.06135 + 1.19606 p1 0.1882 + 0.1849
n [ [ N | - T T -
ool - - i' _|} | | oo - | ] ﬂhwi'{_mﬁﬁ}#f i
B o W . - - I
- - L {mlm hj+ } f - 1000 | | of *W# fith 1
reg_asym_at of | | oF |l ; - kit i
— — B | _ 1000 : _ - B | L
-1000 |- } i i -1000 |- i i ~2000 - ool I
i i - ~apoo | !
-2000 |- ~2000 — -2000 |- - . }
- - N - _ ~2000 -
Cloa v bova b bov s bova b bova baaa by ol b b b v s b L O vl b b b bvna by bova baaa by -mnnﬂ_llllI|IIII|IIII|IIII|IIII|IIII|III v b b b b b benaa banaa |
B0 60 40 =20 O 20 40 80 BOD 100D =30 =20 =10 0 10 20 a0 B0 B0 40 20 O 20 40 B0 BO 100 =30 =20 =10 0 10 20 a0 =180 =100 =50 0 50 100 180 200
diff bpmlX diff bpm4aY  diff bpmdeX = diff_bpmdeY diff_bpm12X
¥2 [ ndf 13.96/13 %2 / ndf 457 34 12 / ndf 1521 /14 %2 [ ndf 2277133 - ¥/ naf 35.11/38
i ) 3000
po -4.518 £ 8.065 | _ p0 -8.282 + 8.034 po -3.305 + 8.035 po -6.599 £ 8.052 2000 F- PO —4.955 + 8.006
p1 0.2677 + 1.1987 p1 1.599 + 1.412 p1 0.1303 + 1.1654 p1 0.8052 + 1.4604 1000 E- pl  —0.06064 + 0.22410
- - _ L | 1000 |- ‘ 1 - fL|HI '
a s i - — gbﬂtw;fhn«—-ﬁ-ﬁp*rf
I h ’Ur]l 1000 i [ Jr | | of A
reg_asym_atr2 Ty b y o ﬁﬁm—ww% ] i Ml d!
— — i B t H 1 B ) : E g
2000 | er ' AL T |“+Hl- - - ' } 2000
I I _ ' -2000 - ~1000 -
S L - i L - - ~3000 |
_4000 ~1000 [~ - - 2000 |- -
. [ ~4000 . ~4p00 | -
- - L - - -—r -

run7312 000 resicssion feo at ve diff bomAit postoanpna” = e



asym_atll

asym_atrl

asym_atl2

asym_atr2

run7312 000 r

10000

5000

=5000 —

10000 |

=80 =60 =40 =20 0O 20 40 60 B0 100
diff_bpmXum

10000

5000

5000 —

10000 —

-80 -60 -40 20 O 20 40 &0 80 100

difi _bpm1Xum
diff

40000
30000
20000

10000

10000
20000

30000

0000

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

:

-60 40 20 0 20 40 60 BO 100
diff_bpm1Xum

10000

5000

=5000

10000 e

30 -20 -10 0 10 20 30
diff_bpmda¥ium

10000

5000

5000 —

10000 MR '

=30 =20 =10 1] 10 20 a0
diff_bpmda/um

diff_bpmd4aY
[

40000

30000

20000

10000

10000
20000

30000

40000

==
IIIIIIIIIIIIIIIIIIIIIII|IIII|IIII|IIII|IIII|II

30 -20 -10 0 10 20 30
diff_bpmda¥ium

L — | —
40000 — 40000 :—
20000 — 20000 :—
20000 — 20000 E—
40000 — R 40000 f—
:l 11 I 111 I 1 11 I 111 | 1 1 | 1 11 | 111 | 111 | 1 11 | 1 :

E-DEIDE_IBD -60 40 <20 0 W20 40 &0 80 100

eoression-asym at vs diff b

10000

5000

=5000 —

10000

80 -60 -40 -20 O 20 40 &0 B0 100
diff _bpmdeX/um

10000

5000

=5000 —

10000

-80 -60 -40 -20 0 20 40 &0 8BO 100

diff_bpmdaX/um

diff
40000 .
30000
20000
10000
0

10000

20000

30000

40000

80 -60 -40 -20 O 20 40 &0 BO 100
diff_bpmdeX/um

diff_bpm4eX

10000

5000

=5000

10000

a0 -20 -10 0 10 20 30
diff_bom4eY/um

10000

5000

=5000 —

10000 |- e

=30 =20 =10 1] 10 20 a0
diff_bpmday/um

diff _bpmde

40000
30000
20000
10000

1]
10000

20000

30000

40000

30 -20 -10 0 10 20 30
diff_bpmdaY/um

4DDDU:— WDUU;

EDDDU:— E{FDUU:—

EDDDUE— E{}DUUE—

mnnnf— mnnnf—.
IEﬂ":":":':lllll”'l"'-l"'l"'l"||lll|||||||||| IE.DDDD:|IIII|IIIII|IIII|I||||||||I||||I|||

-80 -60 -40 -20 0 2

=30 -2{) -10 1] 10 20 a0

m-scat ‘postpan.png = -

10000 —

5000 — -

=5000

10000 —

=150 -100 =50 1] 50 100 150 200

diff_bpm12X/um

10000 — .

5000 —

5000 —

10000 —

=180 -100 =50 1] 50 100 150 200

diff_bpm1 2X/um

diff
[

40000 — .

30000

20000

10000

10000
20000

30000

40000

==
IIIIIIIIIIIIIIIIIIIIIII|IIII|IIII|IIII|IIII|II

=180 <100 =50 1] 50 100 150 200

diff_bpm12X/um

20000 —

20000 —

40000 —

E.DEIUUII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

=150 =100 -50 1] 50 100 150 200

diff_bpm12X/um



10000 - 10000 10000 - 10000 |- 10000
5000 - 5000 5000 5000 - 5000
tll = ol = ok ol
eg_asym_a | | | | |
~5000 ~5000 - ~5000 ~5000 ~5000 -
10000 - 10000 | L : 10000 L 10000 : o : 10000 |
_IIIIIIIIIIIIIII|III|III|III|III|III|I _IlllIII|IIII|IIII|IIII|IIII|IIII|II _|III|III|IIIIIIIlIII|III|III|III|III|I _|IIII|IIII|IIII|IIII|IIII|IIII|III _II|IIII|IIII|IIII|IIII|IIII|IIII|IIII
80 -60 -40 -20 O 20 40 60 B0 100 ~a0 -20 0 =10 0 10 20 30 B0 -60 -40 -20 0 20 40 60 80 100 30 =20 =10 0 10 20 an 150 -100 =50 O 50 100 150 200
difi_bpm1Xium diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium diff_bpm12X/um
. ™ . [bf ] l 2{ . ff ™
B I | I | I B | L
10000 10000 | R 10000 - SR 10000 - 10000
5000 — 5000 5000 5000 |- 5000
t 1 = ol = ol ol
-5000 ~5000 ~5000 ~5000 ~5000 -
10000 RIS 10000 ST e 10000 10000 AP 10000
_IIIIIIIIIIIIIII|III|III|III|III|III|I _IlllIII|IIII|IIII|IIII|IIII|IIII|II _|III|III|IIIIIIIlIIIlIIIlIIIlIIIIIII|I _|IIII|IIII|IIII|IIII|IIII|IIII|III _II|IIII|IIII|IIII|IIII|IIII|IIII|IIII
B0 -B0 -40 -20 0 20 40 60 B8O 100 . -20 0 -10 ) 10 20 an B0 -B0 -40 -20 0 20 40 60 80 100 -3 20 -10 ) 10 20 an 150 -100 -50 O 50 100 150 200
difi_bpm1Xium diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYi/um diff_bpm12X/um
. ™ * . ™
8000 [ 8000 . 8000 [ 8000 [ 8000
000 - 6000 [~ 6000 - 000 [~ 6000 [~
4000 4000 4000 F 4000 4000
2000 2000 2000 2000 2000
of of o of of
reg aS y m atlz -2000 -2000 -2000 2000 - 2000
~4000 -4000 ~4000 ~4000 ~4000
-6000 | 6000 ~6000 ~6000 6000
-8000 [ ~B000 | ' ~8000 | ~8000 |- L ~B000 |-
:||||||||||||||||||||||||||||||||||||| :|||||||||||||||||||||I|||||||||||||| :|||||||||||||||||||I||||||||||||||||||| :|||||||||||||||||||.||||||||||||||| :II|IIII|IIII|IIII|IIII|IIII|IIII|IIII
100000~ 60 40 -20 © 20 40 60 80 100 10000 =050 10 0 10 20 a0 10000 5060 40 -20 © 20 40 60 B0 100 10000 5520 10 0 10 o0 an 10000 =—Ser 100 -50 0 50 100 150 200
difi_bpm1X¥/ium diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium diff_bpm12X/um

10000 o :' 10000 : P 10000 . 10000 | 10000
s000 5000 5000 5000 5000 —
t 2 ol ol ol ol ol
eg— Sy — | - - | -
_5000 ~5000 | _5000 _5000 ~5000
10000 L 10000 ' 10000 - o 10000 | o ' 10000
_IIIIIIIIIIIIIII|I |||II|III|III|III|I _II|IIII|IIII|IIII|I _|III|III|||||III|III||I||III|III|III|I _|IIIIIIIII|IIII|I||||||II|IIII|III _II|IIII|IIII|I|||||||||IIII|IIII|IIII

-80 -60 -40 - 0 20 40 60 80 4100 =30 -20) =10 1] 10 20 a0 =150 =100 -50 1] 50 100 150 200

run7312 000 resression-reg at vs diff-‘bpm-scat postpan.png



